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1. Answer all 100 questions.
B (9)0% SHIEESH0e8 FPokoE.

2.  Each question carries one mark.
&E‘hﬁh @785 &8 Do),

3. Choose the correct answer from the four (4) answers given for each question and

shade the relevant circle in the OMR answer sheet with a Black ball point
pen.

2575, E55 30 ol (4) aTrmood’® HOGLD arese JnER IV OMR Sarees
BEH08" o703 BowoRols 38,56° $ud wrErancld By BEsu.

4. Do not write answers in the Question Booklet. Use the OMR answer sheet for

marking answers. Read the instructions given on the OMR answer sheet
carefully.

Ts (%) LH%008" T oo, e @oion OMR S5 S, seph
Fhoc. OMR S50 BEed® 3050 SPHbe BB HESSed.

5. For rough work, use space provided below in the page.
D8 B 50 B 308 FiHmds Potato GHAFACHIHD.

6. At the end of the examination, handover the answer sheet to the Hall
Superintendent without fail.
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PART - I
GENERAL KNOWLEDGE AND APTITUDE TEST

1. India’s first Defence Satellite launched on August 2013 is ....

2013 estipé® rEBiEe HAPACID BFEY GBIRTO ceeeeens

(1) G.SAT-6
(2) G.SAT-3
(3) G.SAT -7
(4) G.SAT-5

2. Indian Standard Time is in advance of the Greenwich Mean Time exactly

(1) Seven hours

(2) Five hours

(3) Three and half hours
(4) Five and half hours

OB (PEreY oo (DS TPeRIse 5ol $a00kow) PHO0K0 veeenss
(1) 9Deéo Howen

(2) =80 Nowew

(3) SHarEsns Kowes

(4] 28555 Howe

3. The ‘Kaziranga National Park’ is located at .....
(1) dJabalpur
(2) dJorhat
(3) Rajkot
(4) Nainital

seltom sd B, 55,8 Hnd.
(1) e2bird

(2) £%S

(3) oSS

4) P
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NCTE is concerned with ...

(1) Cultural and Technical Education.

(2) Compulsory Education.
(3) Technical Education.
(4) Teacher Education.

IN.2.63.3. B2 Bowodosa.

(1) ooy Sodan Fcdas i
(2)  A5yee Jesg

(3) >rciox s

(4)  &drgrehd D&

Identify the correct statement -

(1) The teacher has to involve the students in his
(2) The teacher has to insist students to eat Mid-day meals only in the school.

Q. Booklet
Code

teaching.

(3) The teacher should give importance to gifted children.
(4) The teacher should avoid students who are not sincere.

BOGS TN Modotinibe.

(1) adrgrouiantss dovgpeso 83 §7%696° wrrdgses S5,

(2)  Soorgy Slamd) dovgoes Biyo BB EJRa0t> .08 Sourd.

(3)  ®OFHoBITY dDrtgess edraines BBEB gD,
(4) g B dorgtigess eSgraiot: HOTSATD.

CBSE stands for ...

(1) Co-operative Bureau of Scientific Education.
(2)  Cellular Branch of Scientific Entrepreneur.
(3) Central Board of Secondary Education.

(4) Cultural Board of School Education. |

2.0.000.5. 5 ..........

(1) aﬂsgcti: D HTE a6t

(2) E"%ﬁﬁ: Xpro Qc{p{?:ng TP
(3) Soba srggoy dov Sy
(4) SrE7ve T &c‘:f:b o eSfﬁg
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An Ideal teacher is one who ....

(1)
(2)
(3)
(4)

(1)
(2)
(3)

(4)

The winner of 2014 Miss India World is ....

(1)
(2)
(3)
(4)

reads continuously.

inspires and initiates the students.

teaches students regularly.
attends the needs of students.

DOoBbo vloRBootIre.
Detigein &Bestd (0B,
500 BE0E DTG0 SQPNE.

DTPER0 HHTOR M.

Gail Da’ Silva
Sobhita Dhulipala
Jhataleka Malhotra
Koyal Rana

2014 2D 50EAT HBE BB ..veeee-.

(1)
(2)
(3)

(4)

Roxd & bov
DT BFOFT
2555 S8

8'a0d oo

(4]
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9.

10.
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Code

The Jayapur village which was adopted by the Prime Minister Narendra
Modi belongs to this State.

(1)
(2)
(3)
(4)

Gujarat
Rajasthan

Uttar Pradesh
Madhya Pradesh

B Bo0[@ FOoESAPE &85 Sidokswy) ‘ciiyd’ oo B+ oVges™B.

(1)
(2)
(3)
(4)

RS
25
]
Bosg 08

The State that banned mining within 1 km (one kilometre) of National
Parks and Sanctuaries ....

(1)

(2)

(3)
(4)

2O B0, LPATTERODH 28 36506t 9006 M BB VDo TR0

(1)
(2)
(3)
(4)

Kerala

Goa
Assam

West Bengal

Lo

(5]
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11.

12,

13.

14.

15.

Q. Booklet
Code

PART - II (A)
GENERAL ENGLISH

We must ........ administrative expenses.

Choose the appropriate phrasal verb to fill in the blank.
(1) cutin (2) cut off

(3) cut down (4) cut out

India is the greatest democracy in the world.

The positive degree of the above sentence is ....

(1) In the world, there is no democracy other than India.
(2) No democracy is larger than India in the world.

(3) India is larger than any other democracy in the world.
(4) No other democracy in the world is as large as India.

People say “The chess master Anandan has lost his memory.”
The passive form of the above sentence is ....

(1) People told that the memory had been lost by chess master Anandan.

(2) It is said that the chess master Anandan has lost his memory.
(3) People said, the chess master Anandan had lost his memory.
(4) It was told that chess master Anandan has lost his memory.

It is certain that he will succeed and nobody can deny that he will secure

good marks.

The underlined part of the sentence is ....... clause.

(1) a principal (2) anoun

(3) an adjective - (4) a co-ordinate

The following sentence is divided into four parts and labelled as ‘a, b, c and d’.

Choose the part of the sentence that has an error.
Bangladesh has come / into / existence / thirty-six years ago.
a b c d

(1) e (2) d
3) a (4) b

[6]




16.

17.

18.

19.

20.

Q. Booklet

Code
You and I played well, ........... ? |
Choose the appropriate question tag to complete the sentence.
(1) didn’t we (2) don’t we
(3) didn’tI (4) didn’t you
“We have to test these products”.

Choose the sentence that has the similar meaning to the above sentence.
(1) These products have to be tested.

(2) These products should be tested by us.

(3) Tested products should be bought.

(4) We should test the products.

‘Do you really come from China ?’ said the Prince.

The indirect speech for the above sentence is ....

(1) 1 was asked if I really came from China.

(2) The Prince asked whether I really eame from China.
(3) The Prince asked me if I really came from China.

(4) I was asked by the Prince whether I came from China.

Krishna 1s an amateur artist.

Select the word which is opposite of the underlined word.
(1) trainer (2) under training
(3) clumsy (4) professional

The first and last part of the sentence is numbered as 1 and 6. The rest is

jumbled and are named as P Q, R and S.
Identify the correct order of the sentence.

[1] There are people

[P] to be able to say

[Q] not because they enjoy the book

[R] who read a book

[S] but because they want

[6] that they have read it.

(1) RQSP (2) RSPQ
(3) PSQR (4) SQPR

7]
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Code

PART II (B)
GENERAL TELUGU

. BT TN YT, YBov LPRTRO, LB, BRWOFHO, PPl Dowoo, oL,

3WG3o08 Hoed 2B oy > HYoWD OGO erveeeene
(1) Soddersdo
(2) rsd®

(3) =H3 orsrakee
(4) esols SoFeritddo

. OIS ety 3oEHETe), Dol BISIERPeD HENP GOt BEGO -cvvesens.
(1) Dehd

(2) B

(3) esedod

(4) BHo

. SO, DhTowne Enrtn, SOPSETRS, HEEH0N FPolD EINBOIED v
(1) @rgato

(2) OFHoTrediarastss

(3) word G

(4) Dod SRop

. e300 DTBLETD 28 vrreerrans

(1)  Faras Tvgas

(2)  HOR DoboKw FG HOSHED
(3) - &R’ TG

(4) Joeedsodss

. H0D FEETR TR FBEO wurveseens
(1) e so%o

(2) B3E%x Taogy BB¥o

(3) =43 %58%o

(4) Dewi'dro 5650

[8]



26.

217.

28.

29.

30.

CSEP L5007 ek BHTH HOWDE DETTES ceveeeens

(1)
(2)
(3)
(4)

D00l Bl T i) Beols S50

(1)
(2)
(3)
(4)

LG, NEK0, AEBBdN’ B STE B

(1)
(2)
(3)
(4)

25 58 8% 208 JIJoDs ¥ (oForr Ty, wb o5

(1)
(2)
(3)
4)

‘g, 6, 20’ O SHHTIN VUNLL DEWSYES IFOTT B

(1)
(2)
(3)
(4)

g wown Jene
% D ToS0
B 5% ove
Y oo oo

Pobvosnn
TIHCSH0
Treiaps BOE
OO WOB

EOBEEHB Bod
KIESTOF H0d
Nz 2od
BB Bod

E'.-Etwaf‘&_gﬁ

OBBND

G338

22500B

uﬁ:mga:
Boren

;ﬁqjc‘.ﬁgﬂu
R(ESDTF

[9]
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Code

31, [H00 Botersd el ‘Ecs;oés ﬁa&ﬁ:ﬁﬁ Oola) WeneaioBO ;5::530 - &3 D0 Mo Lo,
(1) I=ednder - BESrFaTg0
(2) =TEST B - DBTFSO
(3) Stole @imRBnme - BB
(4) IS [Rrodd - B OVATTo

82. JUETRHEE AEFED SNo Bed B0 &5 BV ey ITEeE’ ¥ &5SID, B B BEEreo
HTE SHPRODD BOOTEP (FOBY) DTP®EY wrerereses
(1) Soroorord
(2) =62 oo
(3) ool CPRLE)RO%s
(4) 3.9. CPoTToeD

33. fordé%ac (idows Grow, Rtss Bocbe B e’
@) Qod DeBoeoR) S%0 ~ &3 S TWONT wieerins
(1) 285 Hovesssos — e, 83 Msod
(2) BolorTey; WOBHL - FPe,08 Fon
(3) GorTrg TwIAieso - A eTT0G
(4) DB FTS0 - P08 Fsod

34. 2 e, T KRR, DB’ ey DESHLL Pod Bewld VDT O FUH GPEGed BeF
POBD TS it erstens
(1)  KB3T0 et 58,
(2)  JBaolioed HBHOITE T
(3) oHER Sormrordoed

(4) NHoodore TPe0G

35. “Us DoPoren Tl SR e, e E“Eﬁﬂﬁs@ BOOTOEO verrerenes
1) eosars
(2) Drd
(3) &3

(4) &Fa%s

[10]
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Code

36. BoRoen Yo 690 B (Rrodvey HiTHe g0k ok DESS HEOOBER wreeees
(1) DoFoXKBEw eoerbo.
(2) [oFopdnm wowrds.
(3) JrGostH weerds.
(4)/ H050RaSH wotrss.

37. &0’ Gol Doesd Do AIFHED 088 BES wernenen.
(1) Sorestdenio
(2)r DodmEnm
(3) HodKed
(4) SHeoXwd

38. SO0, &0, FHODHO! &> TTTONI BIN waevereens
(1) o
(2)  Josaw
(3)  grasiu
(@) P{dw

39. ‘womdo, Wy, Stoie, Moo, w0, K980’ e TR O BP wrerrenes
(1) Demosw
(2) Sfeso
(3)  HFBus
(4) SrBH

40. ‘wolito¥ey’ ey BIwXH &S8O cvuurinne
(1)  woifth Bodoien
(2) 5cobiens
(3) Kdyoren
(4) eotideloNen

(11]
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PART - II1 (A)
MATHEMATICS
41. If simplified form of J_—+-.-"J__+j;.8 a8 8 i EL%@:
2
then value of K;-K,is...
V3447 K, +21

508’ vy K- K, deon ..........

T3 28 a8 AT =i
€)
2)
(3)
(4)

o W =3

42. Which of the following is not a factor of (p — q)® + (g - r)® + (- p)?
Bed T 00 (p-q) + (-1 + (r—p)® % 6023 289

(1) r-p
(2) p+g+r

3) p-q
4 q-r

(Space for Rough Work)

[12]
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Code

x 2x
43. If [E) [E) A A9 , then value of x® valueis ....

5) \6) 216
x 2x
{E) [E) L .
5 6 216
(1) 125
216
(2) 125
125
(3) 916
4) 27
44. A In the adjacent figure, OA = OB = 21 cm and
ZAOB = 120° with ‘O’ as centre of the circle,
¥ X then area of the segment AYB (in square units) is ....
©%, %0&' ZAOB = 120° 5:8a%0 OA = OB = 21 e.2.
5 ZAOB = 120°. ‘0’ Fosom e Sys0é® syspotio AYB povep.
® 2 (88-2143)
@ =2 (88 +2143)

21
@ - (88-2148)

21
@ - (88+2143)

(Space for Rough Work)

[13]
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Code
45. Value of sin?83° + sin® 7° is ......
sin? 83° + sin? 7° De0H cereresens
(1) 0 (2) -1
3 1 (4) 2

46. Ifslope of line through P(2, 5) and Q(x, 3) is 2, then valueof x is .....

P(2, 5) %8050 Q(x, 3) o Koot Fo Op oo, TFe0 2 ©00 X DB uwieenes
(1) 3 2 4
3) 1 (4) 2

47. The system of equations
2x+3y=1,
x-y=1
(1) hasunique solution.

(2) data insufficient to determine number of solutions.
(3) has no solution.

(4) has infinite solutions.

2x+3y=1,

Sx—y =T BABBED VIR wreseseres

(1) B8 3D Yebd.

(2) 7y SHPTEeE Fyve Hopgw AgboTe.
(8) s B

(4) esHo® Joen &GO,

(Space for Rough Work)

[14]



48.

49.

50.

Q. Booklet C
Code

Two circles intersect at A, B. PS, PT are two tangents drawn from P, which
lies on AB to the two circles, then ....

Bot PTew A, B 08 podotsivoruanon $00cy AB 6 & P Dotisy ool
o A0 Hdees PS, PT ©owsd ...

(1) PS=PT

(2) PS #PT

(3) PS=2PT

4) PT=2PS

The first and the last terms of an Arithmetic Progression are 17 and 350

respectively. If the common difference is ‘9’, then sum of all terms of that
Arithmetic Progression is ....

2. eooNRAE Do, DN0 Bores HESHT 17 $508cn 350 So8akhe HorcBto 9 e

(1) 6773 (2) 6667
(3) 6973 (4) 6873

If Kx (x —2) + 6 = 0 has equal roots, then value of K is ......

Kx (x - 2) + 6 = 0 GBoo), Sarotwns S8rdem éod, K Jesd ..........

(1) 7 (2) 6
3 3 (4) -6
(Space for Rough Work)

[15]
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Class 1-3 3-5 5-17 7-9 9-11
Frequency i 8 2 2 1
The mode of given distribution is ....
S8 TFHPIe Bk, WITVTES weveeerens
HENS 1-3 3-5 5-17 7T-9 9-11
FISBOSIG) 7 8 2 2 1
(1) 3.386 (2) 3.786
(3) 3.286 (4) 5.286

Code

Which of the following is an example illustrating distributive property ?

QP OB ETHTEND VOO waaerreees
(1) (Bx4)x5=3x(4x5)
(2) (-168) + (168) =0

() 3x4=4x3
(4) 3x(4+5)=3%x4+3%5

J16129 value is increased by 23 and divided by 15, then decreased by 10; what is

the resulting number ?

JI6129 3o 23 oD $065000 158 zPRod HOw Bops wood 10850 Sudckm 513

-n:l':E:lE ..........

(1 2 (2) 3

3 1 4) 0
(Space for Rough Work)

[16]
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Code

54. A number is increased by 20% and then the increased number is decreased by

99.

56.

20%, then the net decrease is ....

2.5 Bopgdd 20% 2o $OBH 20% SRS Booko & HopE® BENOBO .euerrrens
(1) 5% (2) 10%
3) 6% 4) 4%

By selling a basket for ¥ 19.50, a shopkeeper gains 30%. The selling price of the
basket so as to gain 40% is ....

2.5 20090 T 19.50 5 esSogso TDP 2.5 Soseerorts 30% ordio Poditn. e 40% oo

FOTTOY) &3 LI WRTOND KD DO wevenee.
(1) 31 (2) ¥25
@) T21 (4) T30

4
If ‘3’ is added to both numerator and denominator of a fraction, it becomes =

If ‘1’ is subtracted from both numerator and denominator, it becomes 3 then

sum of numerator and denominator of the original fraction is ....
4
OB FEEB0 ‘3’ KOBD X Do 5 IR, @0 DB oo, 5880 wod ‘17 BBIY

2
@ o 5 Wb, B0 & Pho Gk, oo BV LG T IO v

(1) 13 (2) 15
(3) 12 (4) 2
(Space for Rough Work)

[17]



a7.

a28.

C

A
L7 ot
B
(1) 30
(2) 70
(3) 20
(4) 40

Q. Booklet

Code

C

In the adjacent figure, if OA = OB = OC, then valueof xis.....

%, 9008° OA = OB = OC 50050 X’ Je99 wereeenes

A circular park of radius 20 m is situated in a colony. Three boys A, B, C are
sitting at equal distance on its boundary, each having a toy telephone in their
hands to talk to each other, then the length of string of each phone to other

phoneis....

20 m TG0 Ko S Ftoyvot TR DO BT EICeS® Boolkts wests A, B, C
XG0 ETHEO. T 2508 2500 SFeTToSK §7%53 BOFS DOE® Howosed w5,
0K SHH0NN TPEO PED) eeeeenne

(1)
(2)
(3)
(4)

4043
504/3
204/3
30V3

(Space for Rough Work)

(18]




Q. Booklet C
Code

59. A hollow cylinderical pipe has inner circumference 44 m and outer
circumference 45 m, then the cost of painting it from both sides at the rate of

Z 2 per m? will be ....., if its length is 3.5 m.

60.

2.5 ) 109 SPITS® &od. T I 905 45 M., LoBS $8H 44 Do. woxsd TS
Dot DYHTP TorDd WAiooeosd TP, 2 2.5 WY aboeoltd e 2id) PP 3.5 Do. ossdHEd

(1)
(2)
(3)
(4)

< 65.30
< 623.00
X 62.30
< 63.30

The mean of 50 observations was 250. It was detected on checking that the

value of 165 was wrongly copied as 115 for computation of mean, then the
correct mean is ... ;

50 esomve BKen 250. HoTrd X et 165 £ wtveorm 115 e &oshee 28Acd
e DO HO LOND HIED vrreensaes

(1)
(2)
(3)
(4)

165
166
250
251

(Space for Rough Work)

[19]
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Code C

PART- III (B)
PHYSICAL SCIENCES

61. If 2N force is applied on a piston of 0.05 sq.m. cross-sectional area in a hydraulic

62.

jack to lift 200 N of load on the other piston, the cross sectional area of that load
piston is ....

(1) Y2 sq.m (2) 10sq. m

(3) 05s8q.m (4) 5sq.m

25 2008 86 0.05 Budo. P o iP5 2 507, © 00 SSMTAoD TetSPH BeSD
200 577 $OBwoc oSS e $OBwee JobS ek [ U

1) 72 sudo. (2) 10 udo.

(3) 0.5 Suw. (4) 5 Budo.

A woman performs 180 J of work in 1 minute, while her son do 60 J of work

in 90 sec. and her daughter completes 360 J of work in 1 hour. Their power
ratios will be ....

2 & 180 &1 BV .5 Jsaosipood® ok esdo XoBrEoEs 60 = 92D 90 i & %50
DR B0 e KITY 360 ' BIV 2. NowH W Bund 0 Fsore o i3

1) 9:2:3 2) 1:2:3
(3) 3:2:1% 4 2:9:60

When you touch two electrodes of a 9V battery and observe a current of

0.9%10* A through your body, then the resistance offered by your body
will be .....

IV el Bao), Toth JoEitoess orduismts o 1080 wod 0.9X10™ wohany
DS EAroWse HEodoDns Do 5880 5y 6% e

iiiiiiiii

(1) 10°Q (2 1040
(3) 0111 0O (4) 9x104 O

[20]
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64. When a dirty cloth is soaked in soap water, the various micelles form a
colloidal solution, but not a dirt precipitation because of ....

(1) hydrophobic soap molecules repel dirt particles.

(2) non polar nature of soap repels dirt.
(3) ion - ion repulsion.

(4) hydrophilic nature of micelles.

28 BB &) OGN0 Hegy MBE° THBISHPEL VG Wden Ko edeRE (BHo
DHE00, T B00S LTFIN00 DBYEED. THEIO -eeecnven

(1) Doy SePeH Ko X3 Dioopd He $008d) ¥Goboe.
(2) Beay) Boo¥) e§hidd Do B00ddY J¥Poves.

(3) eOiFHo-eaiFhe JEYer

(49 Do ASE & B0

65. A Carbon atom in exited state has 4 valence electrons with different
energies, but form 4 bonds of equal energy. This phenomenon is called ....

(1) Multiple bonding (2) sp or sp? hybridisation

(3) Catenation (4) Hybridisation

SRR HOE° &% TGS BEEFrHE® 4 Bodredawn Do ot ¥3
DORFEI0000 S B 4 D50 ¥ OTPUR DB, e BIECIE SBE0 ..reene.
(1) eveocgre do%ew (2) sp &% sp? Hoxbstese

(3) Hope MY o (4) Hoxbsbeo

66. When 10° J of destructive energy was experienced due to an earthquake at a
place which read as 3 on Richter magnitude; the destructive energy that may be
experienced due to earthquake of 5 on Richter magnitude will be ...

080 e 3 CHrden SIS o8 (oBos’D rsoe 10° J oD $30 3 d
Potod® 5 050 oo $PEoB0 HE ACWHDD DO B3 DOBTEIID vereeee...
(1) 2x10°J @ Y3x105J
(3) 107J (4) 108J

[21]



67.

68.

69.

70.

. Q. Booklet C
Code

The planets on which Sun rises from west are ....

(1) Venus and Uranus (2) Saturn and Venus
(3) Venus and Mercury (4) Uranus and Saturn
T R0 Bretiogths DB 2008 oo,

(1) B, osdnh (2) %D, Dot

(3) Boot, oot (4) %5895, ¥

The correct ascending order of resins as per their identification codes is ...
O MoBo) Dirhe Buom O el Foo 5998,

(1) PVC, PP, LDPE, PS, PP

(2) PET, PVC, PS, LDPE

(3) HDPE, LDPE, PP, PS

(4) PET, LDPE, HDPE, PS, PP

The experience of pain due to a punch of a boxer depends on ...

(1) Only the time span by which the boxer finishes the kick.

(2) The force that the boxer apply and the time of contact of the boxer’s arm.
(3) The magnitude of force alone by which the boxer kicks.

(4) The ratio of time by which the force is applied to the magnitude of force.
25 P50 00N How B LoD Ty BEG eprrnis wote

(1) 275, 36 quaeio B3S o 59 SrEwb.
(2) 50 &5BIACDS weo Ho0D B Sax 8 &) Te BOBTEH.
B) w50 EIAFRDD wO BOBFEICD HFEGBW.

iiiiiiiiii

(4) 2OEAFN sPo &8 wo BOIFEPIE Ko IHD V9.

The quantity of Carbon-di-oxide required to convert 112 gm of quick-lime into
200 gm of marble is ....

(1) 881t (2) 6.022 x 10?3 molecules
(3) 44.81it (4) 44.8 gm

112 qraooe 2rc Boyaco 200 [P, © Boi) TPonMe HIUNEE eS0TI S & &3 &
DR isssieiie

(1) 888, (2) 6.022 x 102 erpes
(3) 44.8 &. (4) 44.8 (.

!

[22]
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72.

73.
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Code C

PART - IIT (C)
BIOLOGICAL SCIENCES

Sieve cells and Sieve tubes are present in this tissue.
(1) Meristem

(2) Epidermis

(3) Xylem

(4) Phloem

Be SeaPecd® Tod Seres, Tred Tores dowros.
(1) Jgreg Sewl

(2) ﬂh‘ﬁdﬁaﬁ

(3) oD

(4) XFAE Smedeo

A woman is suffering from burning feet. It may be due to the deficiency of
this vitamin.

(1) Calciferol

(2) Phylloquinone

(3) Pantothenic acid

(4) Thiamine

¥ g WOTY) Wowed wEBEEed. B s %R T3 o THY.
(1) SBod

(2) PSS

3) oSt 5500

(4)  Fowes

In our eye, the clean window in the sclera infront of the Iris is ....
(1) Fovea

(2) Retina

(3) Lens

(4) Cornea
200 BoidE® &)5igtos® Solrats Baols ot BBHERD 3638 B0 TPNO wereenr.e.

(1) Ras»
(2) NBHeeo
(3) Be¥o

(4) BoSleweoc
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74. The Biofertilizer useful for Nitrogen fixation is ....
(1) Penicillium (2) Rhizobium
(3) Bacillus pseudomonas (4) Micorrhiza
BBE PO SVAPKIE Y «eeeeerens
(1) 2ydatioe (2) PEDawo
(3) el Br&ArTh (4) Soer

75. In Prokaryotes, cellular respiration is done in ....

(1) Chloroplasts (2) Cytoplasm
(3) Mitochondria (4) Nucleus
P30S 0E° $erT 30N 2B DD ceeeneees

(1) $5e08Ccoes (2) Ea_ﬁ‘b;ﬂe:
(3) ?.p_eﬁs‘?::{g‘au‘iﬂﬁ (4) Soiisse

76. If a ripened fruit is in a fruit basket, the other fruits will be ripened quickly.
It is due to this phytohormone.

(1) Auxin (2) ABA
(3) Ethelene (4) Cytokinin

2% Dok 2006° 2.8 BI0L B (I0AS) Hot &oll, JADD Hoky BT Vodera.
83 55N P’ R wereerenes

(1) 30 2) AD.2.
(3) - 3585 (4) 2535

77. Transmission of characters or traits from parents to offsprings is

lllll

(1) Segregation (2) Heredity
(3) Mutation (4) Variation
OSrPety BYBOEIL Hod BoBD POV T evrireees
(1) HPKbes (2) esbokoRED
(3) &BOHYS (4)
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78. The scientist who discovered that the female Anopheles is the carrier for
malarial parasite is .......

(1) Ronald Ross
(2) Ronald Robins
(3) Robert Hooke
(4) Robert Coch

&3t JTHT, WOBOOKT BT, 2D TS0, e K3oR%, A S
(1) &6 oh

(2) &§ oD,

(3) Uﬂué 6 01

(4) oof S5

79. Plants or animals found restricted to a particular area or a country, are called ....
(1) Migrated species
(2) Adapted species
(3) Epidemic species
(4) Endemic species

2.5 Odo Bor 2.8 Bdg (PordS BODBI G0t T, 2ot 30 LasRh.
(1) IRBE z=dow

(2) 6 rvoe

(3) @ esoen

(D doaos ersoen

80. A farmer is rearing honey-bees in his field. It is called ....
(1) Apiculture
(2)  Tissue culture
(3) Sericulture
(4) Pisciculture

£ B0 5 Fod® Be1Y, vosise Biiymmts. O 30 eoLrth.
(1) b¥eyd

(2)  Srend

(3) 8%enb

(4) Bhzend
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PART - III (D)
SOCIAL STUDIES

The winds that named after a native American tribe is
(1) Puna

(2) , Mistral

(3) Loo

(4) Chinook

&R0 Boremrnos® ¥ d DHE B4 BhTres besseicra.
(1) I

(2) o>é

3) eor

B o>k

Leonardo da vinci signs his name as ....

(1) Leonardo da vinci the Artist.

(2) Leonardo da vinci the Painter.

(3) Leonardo da vinci disciple of Experiment.
(4) Leonardo da vinci the great.

DBFTE A 3T° Hob¥o Dard.
(1) ORr=E @R, Sorsetiors

(2) OBFE Ay GBS

B) dTrTE @y BT g
(4) dar=8 &ady & (S
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‘Even though the study of literature promises and offers no reward for

women and no dignity, every women ought to seek and embrace these
studies.” This was written by ....

(1) Monalisa

(2) Cassandra Fedele

(3) Albrecht Durer

(4) Isabella D’este

‘P G0N0 HY BTl Hotd ovgo, TUH0 BPoBsHtE B Boiry DD
BE WSO e ST

(1) 250>

(2) =Pos pié

(3) wba§ crub

(4) 5B &

In 1517, the German monk launched a compaign against the Catholic
church was .

(1) Martin Luther
(2) Erasmus
(3) John Calvin

(4) Ulrich Zwingli

1517 50i56;506" 5708 10,8 BBBEOMe ) Booses DI 255 B0 errrren.
(1) 5785 eryb

(2) dooige

(3) o390

(4) &@5 ol

European countries _]-DlllEd tngether and formed the European Union with
head-quarters at ..

(1) France
(2) Brussels
(3) Germany
(4) Italy

DO Tameo ¥0L Dones s ArEhAS AardehS Y, BEv T
35,8 E50.
(1) &

(2) B2,
(3) =
(4) =zed
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86. In the Tundra region, the Sun never sets during the months of ....
(1) July to September

(2) January .o March

(3) May to July

(4). April to June

OlE® (FoBod’ Hs Do Wood T Do HBL AR GHNBES.
(1) 278 Sod dowd HE%

(2) 25050 Wod B8 S

(3) Ra ool amg HE%

@ D0 ool emd H5%

87. The Nizam of Hyderabad founded the Hyderabad State Bank in this year ....
SPECES Jero, IpETHRE 96 Rt PLoDH BowybiHn
(L 1941
(2) 1944
(3) 1943
(4) 1942

88. The standard currency during the Mauryan period was ....
(1) Rupee
(2) Dollar
(3)  Besant
(4) Pana

5370050 TPeod® s od THRC (FHFAEOTT GOED cererrenes
(1) “earon

(2) &b

(3) D&

(4) rew
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89. In Lok Sabha Elections - 2014, the number of Parliamentary Constituencies
were ....

2014 é%:-’:aﬂ .33_15&:69 #g&:cm NAIFEE DO BOPg «ssseses

(1) 548
(2) 543
(8) 546
(4) 544

90. The fast flowing narrow belt air currents above 12,000 mts in the upper
atmosphere are called as ....

(1) Dry north-east trade winds.
(2) Loo winds.

(3) Monsoon winds.
(4) Jet streams.

S0 2006 12,000 o6t 6" 5:5ye3 Doped® Biom ($52red ToETiien: o0 beodrd.,
(1) P& BaTvd TrS Sidareo

(2) ‘o ST

(3)  2200B0BSS mrases

4) BS Baedteo

91. According to the census 2011, the male literacy rate was ....
(1) 74.04%
(2) 65.46%
(3) 82.14%
(4) 64.84%

2011 =pgr Hedd (Bsebio Hiodve SFTIE° TOEO wuvvrenens
(1) 74.04 z~%0
(2) 65.46 T80
@) 82.14 8o

(4) 64.84 580
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93.

94,

§ - a1

The policy introduced by the President of U.S, Franklin Roosevelt was ....
(1) The New deal policy.

(2) Economic policy.

(3) Open door policy.

(4) "'Non Alignment.

R0 G0 ErERE EFFoBODS IGFRC weeraeens
1) “5rdE dob

(2) s dgrive

(3) LSETE Fod

(4) eds dovse

Hitler assigned the responsibility of economic recovery to the Economist ....
(1) Bismarck

(2) Mussolini

(3) William

(4) Hjalmar Schacht

a0 0¥ IO BB, el e efXin wnioT.
(1) B35, |

(2)  S0oX 00

(3) 20aas

(4) ‘::rve'.ﬁe@ 3

It records market value of all final goods and services produced in a
financial year.

(1) Services product.

(2) Gross domestic product.
(3) Foreign sector product.
(4) Goods product.

25 e0¥ Dontytos® GBd wowd wob; HRIPHE, Be BITS Desvs 5B BATE
oo, |

(1) JSor &ond
(2) HPedIon &6;3
(3) 2BWoK &6,
(4) Sgove &6
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95. The two rivers Bhagirathi and Alaknanda which join at Deva Prayaga are
called as ....

(1) River Brahmaputra.
(2) River Godavari.

(3) River Ganga.

(4) River Indus.

GASE Bo0ae weNses Bises Boi BRECUNK B3¢ 5D% v SO bessuEoros,
(1) e S0

(2) APoesd 98

(8) Ko 56

(4) %o HB

96. Chipko movement started by Sunderlal Bahuguna in early 1970s in these
hills of Uttarakhand.

(1) Garhwal hills

(2) Veli kondalu

(3) Seshachalam hills
(4) Pala kondalu

1970 wtoged® agorpols’™ v Soted® wostod wireme 03, G,
rEedoTte. |
(1) n&= Sosen

(2) 20 Sfoiew

(3) Ixvoo Soken

(4) o Sotiew

97. “Untouchability means any act committed in exercise of discrimination on
grounds of religion, caste or lawful vocation of life.” It was stated by ....
(1) Dr. Rajendra Prasad
(2) Rohini Kumar Choudhary
(3) K.M. Munshi
(4) P Ranjan Kumar

Booo, Hobo Bar VRS STIE esgruom s B D BEIT eowsdBse’
&) faﬁ‘bhaa‘ﬁa .......... |
(1) oo ovBoEprs

(2) S%red 2ub 3o

(3) 3.ame. W0

(4) %. bomd Hurb
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98. In India, the highest waterfall Jerosoppa is on the river of ....

99. The formation day of Telangana state was ....

100.

(1)
(2)
(3)
(4)

PO TH06'D 0B I nodbo B’ B BOP ERHO.

(1)

@

(3)
4)

(1)

(2) 2014, June 15

(3)
4)

BoomeP O &S &'

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)

- (4)

Sabari.
Kaveri.
Godavari.
Sharavathi.

wead

5590

Aovd
SOPND

2014, June 4

2014, June 2
2014, June 14

2014 ams ‘4

2014 e~s “15°
2014 270 2’
2014 5 <14

Sea cliff
Sea arch

Mushroom rock
Sea cave

SE0ESD) I 900D T APEOTT B T BT §T° PP,

WO
oo

Dol Ty
82 Shots
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The steep rocky coast raising almost vertically above sea water is called as ....
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